A
6.4 Using a Table ./?’?

A

(ZQ Use the table to estimate key features of a given scenario.

.e following table represents the movement (in feet) of a soccer ball after x seconds.
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i) At what he»ght\iioes me‘socé'\ﬁ‘ball-s&rt? -7 -1 - 'L e
ii) How high is the soccer ball after 6 seconds?

17 Lt
iii) How long does it take the ball to hit the ground again?
g seonds  (whee Mﬁ\(\lr is O Q"'JV3
iv) After how many seconds is the ball at its maximum height?
U seconds

v) Write an equation to model the situation.
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2) The following table represents the mov&n&e{%t of a swinging pendulum in centimeters after x minutes.
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ii) What is the minimum height of the pendulum?

\L e

biii) After how many seconds does is the pendulum 20 cm off of the ground?

10 seconds, (Y scendS

iv) Write an equation to model the situation.
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